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k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ 

hgfpF5g\ . (The candidates are required to give their answers in their own words 

as far as practicable. The figures in the margin indicate full marks.) 

;d"x s (GROUP A) 

clt;lªIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer All Questions)  [11  1 = 11] 

1. b'n{etfnfO{ kl/eflift ug'{xf];\ . 

 Define scarcity.  

2. olb s'g} Pp6f kmd{n] kfFr PsfO c08fsf] laqmLaf6 s'n cfo  ?= 60  k|fKt ub{5  eg] ;"q 

 k|of]u u/L pQm kmd{sf] cf};t cfo kQf nufpg'xf];\ . 

 If a firm receives Rs. 60 as total revenue from the sale of five units of eggs, 

 then find the average revenue of the firm using the formula. 

3. ljb]zL ljlgdo b/ eg]sf] s] xf] < 

 What is foreign exchange rate? 

4. cGt/f{li6«o Jofkf/sf] t'ngfTds nfut l;4fGtsf]  d'Vo ;f/ Ps jfSodf  n]Vg'xf];\ . 

 Write the main essence of comparative cost theory of international trade in 

 one sentence. 

5. lg/k]If ul/aL eg]sf] s] xf] < 

 What is absolute poverty?          

6. ;+o'Qm /fi6«;+3sf lbuf] ljsf;sf 17 nIox¿dWo] klxnf] / cf7f}+F nIo pNn]v ug'{xf];\ . 
 Mention the first and eighth goals of the United Nation’s 17 SDGs. 

7. e"kl/j]li6t b]zsf ¿kdf g]kfnsf nflu ljZj Jofkf/ ;+u7gsf] ;b:otf lsg dxŒjk"0f{ 5 < 

 Pp6f sf/0f lbg'xf];\\ . 
 Why is WTO membership important for Nepal as a landlocked country? 

 Provide one reason.  

8. g]kfnsf] ljk|]if0f cfk|jfxnfO{ pTkfbgzLn If]qdf pkof]u ug]{ s'g} b'O{ tl/sf ;'emfj lbg'xf];\ .  
 Suggest any two ways by which the remittance inflow of Nepal can be 

 utilized in the productive sector. 

9. k|fylds tYofª\s ;ª\sng ug]{ s'g}  b'O{cf]6f ljlw pNn]v ug'{xf];\ . 
 Mention any two methods of collecting primary data.  

 

 

10. olb t[tLo rt'y{s / klxnf]] rt'y{slarsf] km/s 18 /  ltgLx¿sf] of]ukmn 50 eP rt'y+{s 

 ljrngsf] u'0ffª\s kQf nufpg'xf];\ . 
 If the difference between the third quartile and the first quartile is 18, and 

 their sum is 50, find the coefficient of quartile deviation. 

11. Nof:k]o/ ljlw / kfZr] ljlw k|of]u u/L d"No ;"rsfª\s u0fgf ubf{ glthf km/s cfpg'sf] 

 sf/0f s] xf] < 
 What is the reason for the difference in the results when calculating  the 

 price index using the Laspeyre's method and the Paasche's method?                                        

;d"x v (GROUP B) 

;lª\IfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer All Questions.)  [8  5 = 40] 

12. ;dfhjfbL cy{tGq eg]sf] s] xf] < o;sf ljz]iftfx¿ JofVof ug'{xf];\ . 

 What is socialist economy? Explain its features. [1+4] 

cyjf (OR) 

 ;fwgx¿sf] afF8kmfF8  eg]sf] s] xf] < o;;Fu ;DalGwt ;d:ofx¿ JofVof ug'{xf];\ .      
 What is the allocation of resources? Explain the problems related with it.   

   [1+4] 

13. Hofnfsf] hLjglgjf{xsf]  l;4fGt JofVof ug'{xf];\ .  

 Explain the Subsistence Theory of Wages. 

14. lbOPsf] tflnsfsf] cfwf/df tnsf k|Zgx¿sf] pQ/ lbg'xf];\ .  
 Solve the following questions based on the given table.  [2+3] 

Jf:t'sf] 

pTkfbg 

PsfO (Q) 

s'n l:y/ nfut -?=df_ 

[Total Fixed Cost (in 

Rs.)] 

s'n kl/j{gzLn nfut  

-?=df_ 

[Total Variable Cost 

(in Rs.)] 

s'n nfut -?=df_ 

[Total Cost (in Rs.)] 

0   10 

1  30  

2   50 

3 10 45  

4  55 65 

5  75 85 

6  120 130 

i. lbOPsf] tflnsf k"/f ug'[{xf];\ . 

 Complete the given table.      

ii. k"/f ul/Psf] tflnsfaf6 s'n l:y/ nfut, s'n kl/j{gzLn nfut / s'n nfut jqm/]vfx¿ 

 Pp6} /]vflrqdf /rgf ug'[{xf];\ . 

 Draw total fixed cost, total variable cost and total cost curves in a single 

 diagram from the completed table. 



15. s'g} Pp6f kmd{sf] s'n cfo kmng  TR=50Q-2Q2 lbOPsf] 5 . pSt kmd{n] j:t'sf] 10 
PsfO laqmL ubf{ k|fKt x'g] s'n cfo, cf};t cfo / ;LdfGt cfo u0fgf ug'{xf];\ . o;/L u0fgf 

ul/Psf] cf};t cfo / ;LdfGt cfosf] cfwf/df kmd{n] k"0f{ k|lt:kwf{sf] ahf/df /x]/  sfo{ 

;~rfng u/]sf] 5 jf 5}g eGg] ;DjGwdf sf/0f;lxt lgisif{ lgsfNg'xf];\ . 

 The firm's total revenue function is given by TR=50Q-2Q2. Calculate the 

total revenue, average revenue, and marginal revenue when it sells 10 units 

of output. Based on the average revenue and marginal revenue thus 

calculated, draw a conclusion as to whether the firm is operating in a 

perfectly competitive market, by providing the reason for your conclusion. 

   [1+1+1+2] 

16. afl0fHo a}ª\ssf  s'g} kfFrcf]6f sfo{x¿ JofVof ug'{xf];\ . 

Explain any five functions of commercial banks. 

17. g]kfnDff cfly{s c;dfgtf Go"gLs/0fsf nflu ePsf k|of;x¿ n]vfhf]vf ug'{xf];\ .  

 Evaluate the efforts that have been made to reduce economic inequality in 

Nepal. 

18. g]kfnsf] j}b]lzs Jofkf/;Fu ;DalGwt ;d:ofx¿ ;dfwfg ug{ s'g} kfFrcf]6f pkfo 

;'emfpg'xf];\ . 

Suggest any five measures to solve the problems associated with Nepal's 

foreign trade. 

19. Pp6} pBf]u cGtu{tsf b'O{cf]6f km/s kmd{x¿ A / B df sfd ug]{ sfdbf/x¿sf] dfl;s 

Hofnfsf] dWos / e]l/oG; tflnsfdf k|:t't ul/Psf]  5 . pknAw u/fOPsf] hfgsf/Lsf 

cfwf/df tn ;f]lwPsf k|Zgx¿sf] pQ/ lbg'xf];\ . 

The mean and variance of monthly wages for employees working in two 

distinct firms, A and B, within the same industry, are presented in the table. 

Solve the following questions based on the information provided. [2+2+1] 
Kfmd{x? 

(Firms)  
dfl;s Hofnfsf] dWos 

(Mean of Monthly Wages) 
dfl;s Hofnfsf] e]l/oG;  

(Variance of Monthly 

Wages) 
A 40 100 

B 60 144 

i. x/]s kmd{sf] dfl;s Hofnfsf] :t/Lo ljrng u0fgf ug'{xf];\ . 

  Calculate the standard deviation of monthly wages for each firm. 

ii. b'j} kmd{sf] dfl;s Hofnfsf] ljr/0fsf] u'0ffª\s u0fgf ug{'xf];\ . 

  Calculate the coefficient of variation for the monthly wages of both 

 firms. 

iii. s'g kmd{sf] dfl;s Hofnfdf a9L Ps¿ktf 5 / lsg < sf/0f lbg'xf];\ . 

  Which firm’s monthly wage is more consistent and why? Give reason. 

cyjf (OR) 

lbOPsf] cfFs8faf6 lj=;+= 2075 nfO{ cfwf/ jif{ dfg]/ lj=;+= 2080 sf] nflu kfZr]sf] ljlw 

k|of]u u/L d"No ;"rsfª\s lgdf{0f ug'{xf];\ / glthfsf] JofVof ug'{xf];\  . 

Construct the Price Index for the year BS 2080, using BS 2075 as the base  

year, employing Paasche's method based on the provided data,and interpret 

the result.      [4+1] 

Jf:t'sf 

k|sf/ 

(Types of 

Goods) 

lj=;+= (B.S.) 2075 lj=;+= (B.S.) 2080 

Kf|lt s]=hL= 

d"No ?=df  

(Price per 

Kg.in Rs.)  

Jf:t'sf] kl/df0f 

s]==hL=df 

(Quantity of 

goods in Kg.)  

Kf|lt s]=hL= d"No ?= 

df (Price per 

Kg. in Rs.)   

Jf:t'sf] kl/df0f 

s]=hL=df 

(Quantity of 

goods in Kg.) 

A 2 8 4 10 

B 4 5 5 12 

C 2 7 3 8 

D 3 10 8 16 

 

;d"x u (GROUP C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer All Questions.)  [3  8 = 24] 

20. k"0f{ k|lt:kwf{sf] ahf/df  ;LdfGt cfo – l;dfGt nfut ljlwåf/f cNksfndf kmd{sf] ;Gt'lnt 

d"No / pTkfbg s;/L lgwf{/0f x'G5 < /]vflrqåf/f JofVof ug'{xf];\ . 

How equilibrium price and output are determined in the short-run by a firm 

using MR-MC approach under perfect competition market? Explain with the 

help of diagram. 

 21. g]kfn h:tf] clt sd ljsl;t b]zsf nflu ;/sf/L ljQ lsg dxŒjk"0f{ x'G5 < sf/0fx? lbg'xf];\ . 

 Why is government finance important for a least developed country like 

 Nepal? Provide reasons. 

22. 5 bzseGbf a9L of]hgfa4 ljsf; k|of;sf afjh'b g]kfn cem} klg clt sd ljsl;t 

 d'n'sx¿sf] ;Df"xdf /x]sf] 5 . o; cj:yfsf ;+efljt sf/0fx¿sf] vf]hL u/L k|:t't ug'{xf];\ . 
 Despite more than six decades of planned development efforts, Nepal still 

 remains in the group of the least developed countries. Explore and present 

 possible reasons for this situation. 

cyjf (OR) 
lbuf] ljsf; nIox¿dWo]sf] Pp6f nIo  Zf"Go ef]sd/LnfO{{ ;fsf/ kfg{ g]kfnn] xfn:fDDf u/]sf] 

k|ultsf] d"Nofª\sg ug'{xf];\ . 

Assess Nepal's progress so far in realizing zero hunger as one of the 

sustainable development goals.                                           

 

 

THE END 


